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Choose the correct option          (1 X 15= 15) 
 

1. In the linear differential equation of the form  
𝒅𝒚

𝒅𝒙
+ 𝑷𝒚 = 𝑸 ,  𝑸 is  –  

a. A constant. 
b. A constant or a function of x. 
c. Function of y. 
d. Function of both x & y. 

 

2. In the linear differential equation of the form  
𝒅𝒙

𝒅𝒚
+ 𝑷𝒙 = 𝑸 ,  𝑸 is  – 

a. A constant. 
b. Function of x. 
c. A constant or a function of y. 
d. Function of both x & y. 

 

3. The integrating factor of the differential equation  
𝒅𝒚

𝒅𝒙
+ 𝑷𝒚 = 𝑸 ,  is  – 

a. 𝒆𝒙 
b. 𝒆𝑷𝒙 

c. 𝒆∫ 𝑷𝒅𝒙 

d. 𝒆∫ 𝑷𝒅𝒚 

 

4. The integrating factor of the differential equation 
𝒅𝒙

𝒅𝒚
+ 𝑷𝒙 = 𝑸 is –  

a. 𝒆𝒙 
b. 𝒆𝑷𝒙 

c. 𝒆∫ 𝑷𝒅𝒙 

d. 𝒆∫ 𝑷𝒅𝒚 
 



 

5. 
𝒅𝟑𝒚

𝒅𝒙𝟑 + 𝒚 = √𝟏 +
𝒅𝒚

𝒅𝒙

𝟑
 is a differential equation of degree –  

a. 1 
b. 2 
c. 3 
d. 4 

 

6. The integrating factor of the differential equation 𝒙
𝒅𝒚

𝒅𝒙
− 𝒚 = 𝒙𝟐 is –  

a. 𝟏/𝒙 
b. 𝒆𝒙 
c. 𝒆𝟐𝒍𝒐𝒈𝒙  
d. 𝒆−𝟐𝒍𝒐𝒈𝒙 

 
 

7. The integrating factor of the differential equation (𝒙 + 𝒚 + 𝟏)
𝒅𝒚

𝒅𝒙
= 𝟏 is –  

a. 𝒆−𝒚 
b. 𝒆𝒙 
c. 𝒆−𝒙 
d. 𝒆𝒚 

 
 

8. The integrating factor of the differential equation 𝒙 𝐥𝐨𝐠 𝒙
𝒅𝒚

𝒅𝒙
+ 𝒚 =

𝟐

𝒙
 𝐥𝐨𝐠 𝒙 is –  

a. 𝒙𝟐 
b. 𝐥𝐨𝐠 𝒙 

c. 
𝟏

𝒙
 

d. 
𝟏

𝒙𝟐    

 
 

9. Solution of  
𝒅𝒚

𝒅𝒙
− 𝒚 𝒕𝒂𝒏𝒙 = −𝟐𝒔𝒊𝒏𝒙 is – 

a. 𝒚 𝒔𝒊𝒏𝒙 =
𝟏

𝟐
𝒄𝒐𝒔𝟐𝒙 + 𝒄 

b. 𝒚 𝒄𝒐𝒔𝒙 =
𝟏

𝟐
𝒄𝒐𝒔𝟐𝒙 + 𝒄 

c. 𝒚 𝒔𝒊𝒏𝒙 =
𝟏

𝟐
𝒄𝒐𝒔𝒙 + 𝒄 

d. 𝒚 𝒔𝒊𝒏𝒙 =
𝟏

𝟐
𝒔𝒊𝒏𝟐𝒙 + 𝒄 

 
 

10.  Solution of  
𝒅𝒚

𝒅𝒙
+ 𝒚 𝒄𝒐𝒕 𝒙 = 𝟐 𝒄𝒐𝒔 𝒙 is – 

a. 𝒚 𝒄𝒐𝒔𝒙 = −
𝟏

𝟐
𝒄𝒐𝒔𝟐𝒙 + 𝒄 

b. 𝒚 𝒔𝒊𝒏𝒙 = −
𝟏

𝟐
𝒔𝒊𝒏 𝒙 + 𝒄 

c. 𝒚 𝒔𝒊𝒏𝒙 =
𝟏

𝟐
𝒔𝒊𝒏𝟐𝒙 + 𝒄 

d. 𝒚 𝒔𝒊𝒏𝒙 =
𝟏

𝟐
𝒔𝒊𝒏 𝒙 + 𝒄 

 
 



 
 

11.  Solution of      𝒄𝒐𝒔 𝒕 
𝒅𝒙

𝒅𝒕
+ 𝒙 𝒔𝒊𝒏 𝒕 = 𝟏 is –  

a. 𝒙 = 𝒔𝒊𝒏 𝒕 + 𝒄 𝒄𝒐𝒔 𝒕 
b. 𝒚 = 𝒔𝒊𝒏 𝒕 + 𝒄 𝒄𝒐𝒔 𝒕 
c. 𝒙 = 𝒙 𝒔𝒊𝒏 𝒕 + 𝒄 𝒄𝒐𝒔 𝒕 
d. 𝒙 = 𝒚 𝒔𝒊𝒏 𝒕 + 𝒄 𝒄𝒐𝒔 𝒕 

 
 

12.  Solution of  (𝒙 + 𝟐𝒚𝟑)
𝒅𝒚

𝒅𝒙
= 𝒚  is –  

a. 𝒚 = 𝒙𝟑 + 𝒄𝒙 
b. 𝒙 = 𝒚𝟑 + 𝒄𝒚 
c. 𝒚 = 𝒙𝟑 + 𝒄𝒚 
d. 𝒙 = 𝒚𝟐 + 𝒄𝒚 
 
 

13.  Solution of   𝒚𝒅𝒙 − (𝒙 + 𝟐𝒚𝟐)𝒅𝒚 = 𝟎  is –  
a. 𝒙 = 𝒚𝟐 + 𝒄𝒚 
b. 𝒙 = 𝟐𝒚𝟑 + 𝒄𝒚 
c. 𝒙 = 𝟐𝒚𝟐 + 𝒄𝒚 
d. 𝒙 = 𝟐𝒚𝟑 + 𝒄𝒚 

 

14.  Solution of   𝒅𝒙 + 𝒙𝒅𝒚 = 𝒆−𝒚 𝒔𝒆𝒄𝟐𝒚 𝒅𝒚   is –  
a. 𝒙𝒆𝒚 = 𝒕𝒂𝒏𝒚 + 𝒄 
b. 𝒙𝒆𝒙 = 𝒕𝒂𝒏𝒚 + 𝒄 
c. 𝒙𝒆𝒚 = 𝒕𝒂𝒏𝒙 + 𝒄 
d. None of these.  
 
 

15.  Solution of   (𝒙 − 𝒚𝟐)𝒅𝒙 + 𝟐𝒚𝒙 𝒅𝒚 = 𝟎  is –  

a. 𝒚 = 𝒙 𝒍𝒐𝒈
𝒄

𝒙
 

b. 𝒚𝟐 =  𝒍𝒐𝒈
𝒄

𝒙
 

c. 𝒚𝟐 = 𝒙 𝒍𝒐𝒈
𝒄

𝒙
 

d. None of these. 
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